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1. BEEBROE

(1) #BEUNEE
HARMEERE 36 2 34
HEKRKMEZTFA 36 2 34
HEEEERKE 1,568 1,592 A 24
BEEEZIAA 1,568 1,592 A 24
TN EE 11, 947, 300 12,815, 100 A 867,800
ZHWHEE 11, 947, 300 12, 815, 100 A 867, 800
TMHEMESE 8,637,000 11, 620, 000 A 2,983,000
tisEmyE 8, 637, 000 11, 620, 000 A 2,983,000
Bl IR 176, 000 53, 000 123, 000
B £ U 176, 000 53, 000 123, 000
BRI 861, 304 786, 418 74, 886
I5& BN 499, 300 490, 000 9, 300
SINE IS 0 38,000 A 38,000
& A BRI 0 0 0
S v 25 52, 600 13,200 39, 400
HZE - H#EUE 28, 675 31, 550 A 2,875
FHHZ IR 280, 729 213, 668 67, 061
ZWMEMNE 100, 000 1,000, 000 A 900, 000
ZHWETE 100, 000 1,000, 000 A 900, 000
MR 89 113 A 24
ZHFI R 89 113 A 24
U AR 0 0 0
BN ET 21,723, 297 26, 276, 225 A 4,552,928

(2) BEER
HEE 18,969, 136 21,428,450 A 2,459,314
BTy 7, 869, 380 8, 810, 388 A 941,008
BEEES 3,431,080 2,595, 474 835, 606
IERIE LR 1,543,096 1,483,783 59, 313
BT ER 297, 240 297, 240 0
REXEE 171, 556 429, 054 A 257,498
BIEEHRE 606, 396 985, 066 A 378,670
HERE 438, 801 483,114 A 44,313
BiEE 0 0 0
RIS A 899, 728 3,441,173 A 2,541,445
REHMBEAL 244, 876 283, 114 A 38,238
=Lt 610, 190 844, 371 A 234,181
EFATE AR 781, 000 771, 883 9,117
B e 1,020, 801 542, 956 477,845
EizhS TN 34, 583 11,240 23,343
XL & 1,020, 409 428,817 591, 592
e 0 20, 777 A 20,777




# E SEE GIEES 1R
EHE 3,288, 491 2,946, 709 341,782
BAEEE 806, 000 800, 000 6, 000
ERHEEE 302, 000 300, 000 2,000
=i 174, 680 0 174, 680
i ST 511,020 294, 410 216, 610
BIEEWRE 149, 538 161, 886 A 12,348
HERHE 48, 851 49, 691 A 840
E R S 2 138,518 180, 642 A 42,124
RESMBAR 0 6,520 A 6,520
HfgH 75, 630 52, 060 23,570
EHAERAN 63, 754 85, 000 A 21,246
L e 264, 000 264, 000 0
HHAR 20, 000 20, 000 0
XihaiEE 714,500 732, 500 A 18,000
ME 20, 000 0 20, 000
RE R M 22, 251, 6217 24,375,159 A 2,117,532
ATl 48 25 % 3R B AT 2 AR W 1 R A 534,330 1,901,066] A 2,435,396
ik kS 0 0 0
S HRE IR A 534,330 1,901,066] A 2,435,396
2. EEMEBOE
(1) #EESE
RE MR A 0 0 0
(2) BENER
RENE MR 0 0 0
S HIRESMBEREE 0 0 0
= B — AR IERRBA EE LR IRUAR A 534,330 1,901,066] A 2,435,396
—RRIEREA E R E RS 43, 275, 622 41, 374, 556 1,901, 066
—RRIFREA E B R TR S 42,741, 292 43, 275, 622 A 534,330
TETE IEBR BT EE IR IR D ED
= B 15 IE IR BA EE AR IRUAR 0 0 0
HE ERE EHERS 520, 000 520, 000 0
HEEIEREM EHRES 520, 000 520, 000 0
ERMERRES 43, 261, 292 43, 795, 622 A 534,330




